


& . MG N ——
O [
Sub: | e [ [ e
J Time: Ose: / /

2 Lku o
—1/\ 270 !
/\ © T pnme ¥ actotrizadon
* a5 , OB byp is = 2 2.5

“}/\A«ﬁo«[u( —umbch o7 "IZL rs ©
3 . (zﬂ) (3+1) ()
e

3 )t
> /\5
-
3 5 | 5H0 :
2/ e -
-
EYE- -
-
}3 € -
5 -
N
| ,é : «4'0")-\ 0‘/\ §q0 7Y 6
—T;uh»(’?[;be/ JA'\ )9)’)17”\ 43& =4 ‘
- 2 33'5 P two i :
|




’, Wi

Iy

Sub:

, ——

( &w%q fon all Jxitons v

o /OX;V¢/2XV$

tyo - = 1 5x 36

_( xJ0 = 9X68

+ URBTE = Al e

/
5 ,/2/ 3/9'/ ;/ (/ 9/ /o/ L’

J¥ EYo an<
The Hichns rox et I

4 2 b

23, EY0

Yy
20 > 2 3xE &lpo = 25%Pxt

LeM o (240, 518y = 2737 - 2/40
Z"-CD D}\ L.Zl{o/ 5110) 7 2 1—35’ - 66



QT

P EUNEWPT ST S et b Ld g g
(3 = 3x&/ > 33 X T =23 0k

‘ . 3% :2:\'5'/"7 =

juo = 22XF0 ° 22X -

; L o

C L e P :253,5‘.7- =12 406 <

R o

&

o«

-

«

£

1

c

1

| Tt T

&(m[m‘?r;} . Nurmunate?,

2 =2 éaéuzr/"” Hha D(no‘m}"”"én
g4 5 ,23 4
! me 33
-
o > 2%% D=3 ”
Sl >
2% ;33
LU\'( 04} N‘;\’ U éh :2057$— 7 /4
* 8 He F 0(,\ %,7/)/ R =
- 2l
L&M o'rh D('ho?”ﬁﬁu"zbb = 3‘(7 Q) 2/ I
: ' 4
6o of B Nawanahrn = 2 Lk oP %'%'gf,"
& p 0}‘ p{mw“rwv{m 53 3



- Pﬁrr[ll

- ok Oate: 7/
— - fVaY o, V’a‘;)(l-rygy B L
- = - "
Y, (1-v3) ([+V3) 1= (va))
_ v Ve 4+ () gravei4 3k
} i L+ 3
R RS _{ + v
L G h < T
17
= """L y: ‘/;
p - 5 7 2_

— . v
f/r.,—/’lﬂ’\ﬂl’ﬂl*/\j
xT
e NN -

B
2708



R

%L)pa&n’ ‘}}mr\ od¥ 2 = I (00594—)9715)

g 2A
) (s 3L o+ N FT)

2
)/’— ['. SI“Y\Z-[
2 w}g""} j
\ \ — C}' gI
E > pone o forrm 2 3
% No, sond,
V <idie V2 -7
= Vigs Y Va; -g’f_Z,"
: Y,
B L/),/Y)I '2/'
= §* . 2
- —9
- 24/
/7/ <
gy 2rs 8(2+))-(2t])

!
Ea
o\
~
Q
W
\
\
2
i
~

)
v
+
3

.ﬂlﬂﬁﬁt(ii(i‘Ilii(\\\\\\\\\\\\\\\\\\\J



i
i
g =
3
[ \ )
hr (/45#—/-1 gl ) Torrm
pr 7
Z + ). ™ 5/
-2 (w73



